IB Math SL - October 16, 2016 (46 marks]

12. Find log, 1024 . i
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1b. Given that log, (-

) can be written as px + gy , find the value of p and of g.
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[2 marks]
2b. logg4 + log,9




IB Questionbank

S 3 (s 52 (e maks]
3. Letf(¥) =3Hwand g(x) rh-é

Express g(x) in the form f(x)+loga ,wherea € Z* .
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4a. Find the value of log,40 - log,5 . (3 marks]
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5. Letlogyp = 6 4nq logyg =7,

(@)  Findlog,p? .

(6 Findlog, (4)

(¢)  Find log,(9p) .
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[3 marks]

6. Expand (2 — %)4 and simplify your result.
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7. Given that :







